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: #include <FK/FK.h>
. #include <FL/F1l_Value_Slider.h>

:// 0000000000
: F1_Value_Slider #*newSlider(int x, int y, int w, int h, char *label)
{

Fl_Value_Slider *slider;
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slider = new Fl_Value_Slider(x, y, w, h, label);
slider->type (FL_HOR_NICE_SLIDER) ;
slider->minimum(-100.0) ;

slider->maximum(100.0);
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int

slider->value(0.0);
slider->labelsize(12);
slider->textsize(12);

return slider;

main(int argc, char *argv([])

F1l_Window mainWin (540, 320, "TEST");
fk_Window viewWin(10, 10, 300, 300);
Fl_Value_Slider *sliderX1l, *sliderY1l, *sliderZi;
Fl_Value_Slider *sliderX2, *sliderY2, *sliderZ2;

fk_Vector start, end, pos[3];

fk_Line lines;

fk_Polygon poly;

fk_Light light;

fk_Model lineModel, polyModel, lightModel, cameraModel;
fk_Scene scene;

// 00000000

sliderX1l = newSlider(320, 20, 200, 20, "X1i");
sliderYl = newSlider(320, 70, 200, 20, "Y1");
sliderZ1l = newSlider(320, 120, 200, 20, "Z1");
sliderX2 = newSlider(320, 170, 200, 20, "X2");
sliderY2 = newSlider (320, 220, 200, 20, "Y2");
sliderZ2 = newSlider(320, 270, 200, 20, "Z2");

mainWin.end();
fk_InitMaterial();

// 0000

start.set (0.0, 0.0, 0.0);

end.set (0.0, 0.0, 0.0);
lines.pushLine(start, end);
start.set(-60.0, 70.0, 40.0);
end.set(70.0, -40.0, -50.0);
lines.pushLine(start, end);
lineModel.setShape (&lines);
lineModel.setLineColor (0.0, 1.0, 1.0);

// 00000

pos[0].set(-50.0, 70.0, 80.0);
pos[1] .set(-20.0, -40.0, -60.0);
pos[2].set(30.0, -20.0, -50.0);
poly.pushVertex(pos[0]);
poly.pushVertex(pos[1]);
poly.pushVertex(pos[2]);
polyModel.setShape (&poly) ;
polyModel.setMaterial (Yellow);

// 0000

lightModel.setShape (&light);
lightModel.setMaterial(White);
lightModel.glFocus (0.0, 0.0, -1.0);

// 00000
cameraModel . glMoveTo(0.0, 0.0, 500.0);




71: cameraModel.glFocus (0.0, 0.0, 0.0);
1.0, 0.0)

72: cameraModel . glUpvec(0.0, s 5
73:
74: scene.entryModel (&1ineModel) ;
75: // scene.entryModel (&polyModel) ;
76: scene.entryModel (&1ightModel) ;
77 scene.entryCamera(&cameraModel) ;
78: viewWin.setScene (&scene) ;
79:
80: mainWin.show();
81: viewWin.show();
82: while(true) {
83: if (mainWin.visible() == 0) {
84: if (Fl::wait() == 0) {
85: break;
86: } else {
87: continue;
88: }
89: }
90: if (viewWin.drawWindow() == 0) break;
91: if (F1::check() == 0) break;
92: if (viewWin.winOpenStatus() == false) continue;
93:
94: // 0000000000000D00000
95: start.set(sliderXi->value(), sliderYi->value(), sliderZi->value());
96: end.set(sliderX2->value(), sliderY2->value(), sliderZ2->value());
97: // 00000
98: lines.changelLine(0, start, end);
99: ¥
100: return O;
101: %
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